
Search region Emiss
T [GeV] T2ttC(500,450) T2ttC(500,450) REINT

Nb = 0, pT(ISR) > 500 GeV, 2 ≤ Nj ≤ 5
0 > 750 6.7e−4 6.5e−4

Nb = 0, pT(ISR) > 500 GeV, Nj ≥ 6
1 550−750 8.5e−4 8.5e−4
2 > 750 5.3e−4 5.2e−4

Nb = 1, mT(b1,2, Emiss
T ) < 175 GeV, pT(ISR) > 500 GeV, pT(b) < 40 GeV

3 550−750 5.2e−4 5.1e−4
4 > 750 2.3e−4 2.2e−4

Nb = 1, mT(b1,2, Emiss
T ) < 175 GeV, pT(ISR) > 500 GeV, 40 < pT(b) < 70 GeV

5 550−750 2.5e−4 2.4e−4
6 > 750 1.50e−4 1.41e−4

Nb ≥ 2, mT(b1,2, Emiss
T ) < 175 GeV, pT(ISR) > 500 GeV, pT(b12) < 80 GeV

7 > 650 0.85e−4 0.85e−4
Nb ≥ 2, mT(b1,2, Emiss

T ) < 175 GeV, pT(ISR) > 500 GeV, 80 < pT(b12) < 140 GeV
8 450−650 1.11e−4 1.02e−4
9 > 650 0.99e−4 0.92e−4


